USN 5 17CS34
Third Semester B.E. Degree Examination} §18/Jan.2019
Computer Orgaé;i' ation
3 &
Time: 3 hrs. ' Max. Marks: 100

Note: Answer any FIVE full questions, chdosing

é 1 a. Explain with a neat diagram the®¢or i rg)ccssor and the computer
s memory. ; (05 Marks)
F b. Explain the Basic Instruction types (05 Marks)
3 c¢. Define Addressing mode, e: n the various addressing modes with example. (10 Marks)
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..2' % 2 a. Write an assembly Am that reads a line of chatdcters and display it. (05 Marks)
£@ b. What are assemb irectives? Point out and exglain the various directives with example.
.%"% ‘e - (05 Marks)
£9 c. Point out varioys'$hifts and rotate instruétion and example with a neat diagram and example.
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28 3 a. Define interrupt. Point out and é@ain the various w enabling and disabling interrupts.
PR . : L (07 Marks)
e = b. What are Exceptions? Poifit.out and explain th 1t kinds of execeptions. (05 Marks)
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=R c. What is interrupt ncsg%%l xplain with a neay'diagram the implk entation of interrupt
go 3 priority, using individualinterrupt request knowledge lines# (08 Marks)
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%‘ p 4 a. What is Bu htralized and dijstributed arbitration. With a neat
—‘% g‘é diagra.m.h R4 : : : . (10 Marks)
£ & b. ExplainfUniversal serial Bus tfe¢%tructure and s IS operation with a neat diagram.
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E: é’ 5 %’%Eg;plain synchronous, DRAMS with a blée lagram. (05 Marks)
§ - bﬁi’iﬁDeﬁne ROM ; point out and explain vagéjous types of ROMS. (05 Marks) *
g = c. Define cache mem@ry, explain vatiGus types of it with a neat block diagram. (10 Marks)
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4 : 6 a. What is Virttal memory? Expféin virtual memory organization. (07 Marks)
s Explain the optical disk dtganization with a neat diagram. (10 Marks)
= c. Define Hit rate and miSs alty. (03 Marks)
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= 7 a. Draw 4-bit caj 3k ahead adder and explain. (10 Marks)
RS = p . .
b. Perform multification for —13 and + 9 using Booth’s Algorithm and explain Booth’s
Algorithm process. (10 Marks)
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8 a. Explain with a neat figure the circuit arrangenfent €0r binary division. (10 Marks)
b. Explain IEEE standard for floating point n ﬁ%r}nber.' : (10 Marks)
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9 a. Explain three — bus organization of fhe )datapath with a neat bIock dlagrams (06 Marks)
b. E@bmHdeMaKbmmHmnGQMManmapmw%mgmm (06 Marks)
c. Write the control sequence for %cutxon of the Instructloﬁ@ &dd (R3), R; in the execution of
a complete instruction. (08 Marks)
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10 a. Explain briefly tt Eock dlagram ofa dlglgal camera. (10 Marks)
b. With a neat blodg lagram, explain the v%g@r%g of microwave oven in an embedded system.
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